

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

BIII TO:

Val Energy, Inc. 200 W. Douglas STE #520 Wichita, KS 67202 **INVOICE** 

Invoice Number: 131039

Invoice Date: May 5, 2012

Page:

1

RECEIVED
MAY 1 4 2012



9208 - SURFACE COMENT

		, - •	•
: Customer ID	Well Name# or GustomerP.O.	- Paymen	f Terms
Val	Thom C #3-12	Net 30	Days
Job Location I	Cample eation	Service Date	Due Date
KS1-01	Medicine Lodge	May 5, 2012	6/4/12

Quantity	ii - Item. ii .	Description	Unit Price	Amount
135.00	1	Class A Common	16.25	2,193.75
90.00	1	Pozmix	8.50	765.00
i .	MAT	Gel	21.25	85.00
7.00	MAT	Chloride	58.20	407.40
236.00	SER	Handling	2.25	531.00
15.00	SER	Ton mlles	25.96	389.40
1.00	SER	Surface	1,125.00	1,125.00
15.00	SER	Heavy Vehicle Mileage	7.00	105.00
15.00	SER	Light Vehicle Mileage	4.00	60.00
1.00	EQP	8 5/8 Wooden Plug	92.00	92.00
1.00	CEMENTER	Matt Thimesch		
1.00	EQUIP OPER	Brett Goins		
1.00	OPER ASSIST	Brandon Boor		
	ĺ			
		Subtotal		5 750 55

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1150 175

ONLY IF PAID ON OR BEFORE
May 30, 2012

Subtotal	5,753.55
Sales Tax	258.65
Total Invoice Amount	6,012.20
Payment/Credit Applied	
TOTAL	6.012.20

### ALLIED OIL & GAS SERVICES, LLC 054020 Federal Tax I.D.# 20-5975804

REMITTO P.O. BOX 31

SERVICE POINT:

RUSS	SELL, KA	NSAS 6760	55			Med, Ce	John
DATE 5-6-12	SEC.	TWP.	RANGE //w	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE Thomas		3-12	LOCATION 2	81 + Gerlone Rd	•	COUNTY	STATE
OLD OR NEW (Ci	ircle one)			that Rd, I south, 1			109
CONTRACTOR (	nd Por	<i>,</i> #2	,	OWNER U		_	•
TYPE OF JOB S	duce	<u>,                                     </u>		OWNER C	LIER		
HOLE SIZE 12 1/4	/	T.D	226'	CEMENT	,		
CASING SIZE	35/8"		тн <i>э//</i> ¹	AMOUNT OR	DERED <u>226</u>	cx 60:40	3/-40
TUBING SIZE	<u> </u>		TH		+2%	e(	
DRILL PIPE	<u> </u>	DEF					
PRES. MAX 30	Opp		PTH		0= a	11 om	0.00
MEAS. LINE	PG)		NIMUM DE JOINT	COMMON_]		_@ <u>16.95</u>	2193.75
CEMENT LEFT IN	V CSG.	SHC	DE TOTAL	POZMIX( GEL	908x	_@_ <u>&amp;.50</u> _	76500
PERFS.				GEL CHLORIDE _	48X 7.5x	_@ <i>_&amp;</i> ]	
DISPLACEMENT	78 6b	5 H20		ASC		<u>@_;;;;;;;</u> 	407.46
		JIPMENT					
PUMP TRUCK	CEMENT	ER Not	Th'meech				
		Brett Go				_@	
BULK TRUCK	<u>,</u>	-/				@	
# 356/290	DRIVER	Brando	n Boer		<del></del>	@	
BULK TRUCK		_				@ @	<del></del>
#	DRIVER	·		HANDLING_	A340		53100
		t <sub>i</sub>		MILEAGE 15	5×236×.11	_ e <u>_ a . a .</u>	389 4
	RE	MARKS:				ТОТАІ	4371.55
Bellow.	with RI	a an	36Hs H20			IOIAL	<u> 1011.00</u>
MIX 225	CV Come	L			SERVI	ICE	
Shut down	n Releas	cphy c	13p 13 bls A	20			
- Shut M		· -		DEPTH OF JO	в <u>211'</u>		
	ement d	45 acc.		PUMPTRUCK			1125-
				EXTRA FOOT			
				MILEAGE		2@ 7.00	105-
-			· · · · · · · · · · · · · · · · · · ·	— MANIFOLD LV	15	_@_ <u>4.60</u>	1.0 =
				<u> </u>		@_ <del></del>	
CHARGE TO: _ <i>U</i> 6	Energ	<u> </u>		<del> </del>			
STREET	7		_			TOTAL	\$1290-
CITY	ST.	ATE	ZIP				
	· · ·			~ 8 <del>5</del> 8 1	PLUG & FLOAT	r equipmen	T
				1-01000	n olen		02
To: Allied Oil & O	Gas Servi	ces, LLC.					
You are hereby re			enting equipme	nt			
and furnish cemer	nter and h	elper(s) to	assist owner or			_@	
contractor to do w	ork as is	listed. Th	e above work w	as			00-
done to satisfaction	on and su	pervision c	of owner agent o	or		TOTAL	92
contractor. I have	read and	l understan	d the "GENER	AL			
TERMS AND CO	ONDITIO	NS" listed	on the reverse s	ide. SALES TAX (I	f Any)		
	0	1 ~	1.77	TOTAL CHAR	ges\$5	<u> 153</u> .75	
PRINTED NAME_	Kie	k Sv	2,4L				
	. ^		= (1 -)	DISCOUNT _		IF PAII	D IN 30 DAYS
DIGNAMINE P	, V.	<u>V</u>	+1				
signature $m{ extstyle K}$	un	$ \lesssim \backslash \gamma$	hur				



PAGE	CUST NO	INVOICE DATE
1 of 1	1004409	05/14/2012
	TNVOTCE NUM	BER

#### 1718 - 90904058

Pratt

(620) 672-1201

B VAL ENERGY

1 200 W DOUGLAS AVE STE 520

 $\tilde{L}$  WICHITA

KS US

67202

т o ATTN:

ACCOUNTS PAYABLE

J LEASE NAME

Thom C

3-12

0 LOCATION В

COUNTY

Barber

S STATE Ι

KS

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTRIECTIVED

JOB #	EQUIPMENT #	PURCHASE ORDER NO.		1 6 2012 TERMS	DUE DATE		
40463272	20920			Net - 30 days	06/13/2012		
	<u> </u>	QTY	U of M	UNIT PRICE	INVOICE AMOUN		
For Service Dates	s: 05/12/2012 to 05/	2/2012	•				
0040463272	9	308-3					
171806067A Ceme	ent-New Well Casing/Pi 05/						
Cement 5 1/2" Long	•	, =, == , =					
AA2 Cement		100.00	EA	13.60	1,360.05		
60/40 POZ	•	50.00	EA	9.60	480.02		
C-41P		24.00	EA	3.20	76.80		
Salt		455.00	EA	0.40	182.01		
C-44		94.00	EA	4.12	387.29		
FLA-322		76.00	EA	6.00	456.02		
Gilsonite		500.00	EΑ	0.54	268.0		
Super Flush II		500.00	EA	1.22	612.02		
"Top Rubber Cmt Pl	<del>-</del> :	1.00	EA	84.00	84.		
"Guide Shoe - Regul	· · · ·	1.00	EA	200.01	200.		
"Turbolizer, 5 1/2""		5.00	EA	88.00	440.		
"5 1/2"" Basket (Blu		1.00		232.01	232.		
	Float Valve-5 1/2"(B	1.00		172.01	172.		
"Unit Mileage Chg (F	•	45.00		3.40	153.		
Heavy Equipment M	•	90.00		5.60	504.		
"Proppant & Bulk De	=	308.00		1.28	394.		
Depth Charge; 4001		1.00		2,016.06	•		
Blending & Mixing S	· ·	150.00		1.12	168.		
Plug Container Util.	•	1.00		200.01	200.		
"Service Supervisor,	, first 8 hrs on loc.	1.00	EA	140.01	140.0		
DIENSE BEMIT		OTHER CORRESPONDENCE T					

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

PO BOX 10460

MIDLAND, TX 79702

SUB TOTAL

TAX

INVOICE TOTAL

8,525.64

279.02

8,804.66

# BASIC 10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124

#### **FIELD SERVICE TICKET** 1718 06067 A

				one 020-0/2-	-1201			DATE	TICKET NO	· 	_
DATE OF JOB	12-17	> DI	STRICT PENT	T/S		NEW X	OLD □ F	PROD INJ	□ WDW □	CUSTOMER ORDER NO.:	
CUSTOMER	VAL	<u> </u>	NX94			LEASE 7	1401	11 C	3-12	WELL NO	).
ADDRESS									STATE /	 \$	
CITY			STATE			SERVICE CF	REW_S.4	Hon	WRIGHT,	Course	<u> </u>
AUTHORIZED B	Y	-	,			JOB TYPE:	CNW	51/2 1	014,57.	-	
		IRS	EQUIPMENT#	HRS	EQ	·	HRS		<del></del>	ATE AM PM	TIME 230
			·				1	ARRIVED AT	JOB - 11-12		730
	10 :	<u> </u>	· · ·	-	-	·		START OPER	RATION 5-12-		£2.0
37900		_	,			· · · · · · · · · · · · · · · · · · ·	+			AM -5	15
<u> </u>				+ + + -				RELEASED		AM G	:30
				+ +		<del></del>		MILES FROM	STATION TO WE		
ITEM/PRICE	nis contract v			·			UNIT		ER, OPERATOR, CON		
<u> </u>	111.2						5K	100		1 200	) 0.3
	<u> </u>								-		
	( -4)	12	· /	<del></del> .	-		16	24			
CC 111	SALT	7.					16	455			
CC 115	1-49	/					16	94		484	4 10
CC 129	714-	32	۷					<del> </del>		52	D 40
	11150	7/	4/ /	·		<del></del>		500		33	
-	TOP	1 0	7	7				-	- 250 -	10	5 00
	7160							<del>  / </del>	230 -	711	ラ 00 5 00
· · · · · · · · · · · · · · · · · · ·								5		70	7 00
					•		911	1		29	S 23
	50,00		· · · · · · · · · · · · · · · · · · ·				611	500		74	500
C 100	Duky		<i>'</i>				mi	45		19	1 25
E 101	H pary	89	ost,				m			(x 3	
e 113	PRESSURE PUMPING & WIRELINE  INTE OF JOB 5-12-17 DISTRICT PRITTYS  JISTOMER VAL - SNEXPY  DISTOMER VAL - SNEXPY  D					Tim	.308		49	<u>3 22</u>	
	Dept	61 C	Marye 4000-	5000				/		1,54	<u>) bo</u>
OE 240	Prent	1.00	- 4/15 cg		•			130		2/0	) <u>(0</u> 0
5003	114.0	11/4	TO DONOUS				720			17	5 00
CHE	EMICAL / AC	CID DAT	A:	1				,	SUB TOTA	ے رہے جی ا	
				1	SE	RVICE & EQUI	PMENT	%TAX		<u> </u>	7
			<u> </u>	-							
				_			-11	ank do	TOTA	ιL	
DATE OF JOB STATE DISTRICT PRIMERY WELL PROD DIN DWDW CASTOMER AGENT NO.  CUSTOMER VAL SOLVEY LEASE THUS COUNTY LARBY. STATE SERVICE GREW SULL NO.  ADDRESS COUNTY LARBY. STATE SERVICE GREW SULL NO.  ATTEMPRICE BY JOB TYPE: ("WW J.											

SERVICE REPRESENTATIVE	THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:
The state of the s	(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

# BASIC 10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124

#### FIELD SERVICE TICKET

1718 00007

	ENERGY PRESSURE PUMPI		one 620-672	2-1201			DATE	TICKET NO		-
DATE OF JOB	DI	STRICT /			NEW 🗷	OLD	PROD   INJ	□ WDW □	CUSTOMER ORDER NO.:	
CUSTOMER	( i i i i i i i i i i i i i i i i i i i				LEASE				WELL NO	١.
ADDRESS					COUNTY	17.		STATE		
CITY		STATE			SERVICE C	REW	4			. <u> </u>
AUTHORIZED B	Υ				JOB TYPE:		e e e			
EQUIPMENT	# HRS	EQUIPMENT#	HRS	EQUIF	PMENT#	HRS	TRUCK CALL	ED D.	ATE AM 1	TIME
						<del> </del>	ARRIVED AT	JOB	AM PM	
						·	START OPER	ATION	AM PM	
•						+	FINISH OPER	ATION	AM PM	
			+				RELEASED		AM PM	
							MILES FROM	STATION TO WE		
<u>د بدید به با</u>		he written consent of an o				1	· · · · · · · · · · · · · · · · · · ·	R, OPERATOR, CO		
ITEM/PRICE REF. NO.		TERIAL, EQUIPMENT	AND SERVIC	CES USEI	JSED ————	UNIT	QUANTITY	UNIT PRICE	\$ AMOL	JNT
	estile :					1			+ 1 201	- 100
e de la companya de l						1/	:		1.810	
	in in			<u> </u>			5		7.7	· V ·
						120			1756	7 7.7
	30 W					27	1.1		52	1 112
						7	4.00		3.5	5 14
r e g	7 3	w with					, ,		10	
	<i>y'</i>							320 -		
		·							200	' )
									24/-	
	<u></u>								7.6	
	:						7.		177	
	12	,							(,,	) 12
2.	<i></i>								47.	2. 2.
	-	V Section 1			· · ·					<i>i</i> 2.3. 2
	£ .						2.7		المتحك المتحاكم	<del>-</del> -
<i>:</i>	·	:					/		2:0	_
CHE	EMICAL / ACID DATA	<b>A</b> :	]					SUB TOTA	L	
			4		ICE & EQU	IPMENT	%TAX	ON \$		
			1	MATE	RIALS		%TAX			
			J			Control of the Contro		TOTA	L	

REPRESENTATIVE / FIELD SERVICE ORDER NO. THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY: (WELL OWNER OPERATOR CONTRACTOR OR AGENT)

SERVICE



### TREATMENT REPORT

Customer	IAL-E	VFK	97			ease No.						Date				
Lease THOM C				V	Well # 3 - / 2 //2//02						05-12-12					
Field Order #	Station	$^{n} \mathcal{P}$	RIT	TK				Casing	1/2 .	Depth	94	Count	YEACB	gyl		State -
Type Job	NW	<u>5</u>	1/7 4	) 01055	From	, 2.	-		For	mation	-			Legal D	escription	//
PIP	DATA		l	ORAT				FLUID	USED				TREAT	MENT	RESUM	
Casing Size	Tubing Si	ze	Shots/F	t			Ac	eid				RATE	PRES	SS	ISIP	
Depth 748	Depth		From		То		Pr	e Pad			Max				5 Min.	
/olume //	Volume		From		То	<del>-</del>	Pa	ıd			Min				10 Min.	
Max Press	Max Pres	s	From		То		Fr	ac			Avg				15 Min.	-
Vell Connection	n Annulus V	/ol.	From	·	То		İ				HHP Use	d			Annulus	Pressure
lug Depthy	Packer De	epth	From		То		Flu	ısh			Gas Volu				Total Loa	nd
Sustomer Rep	resentative					Station	Mar	nager <i>L</i>	AUE	S	oH.	Trea	ater /	Loa	t L/	(1,10)
Service Units	37900	<u>.33</u>	708	2.8,7	, <sub>U</sub>	1983	2	21010					•			
Driver lames	Sullis		N/Re	611		1-gR	au	uce								
Time	Casing Pressure		ubing essure	Bbls.	Pum	ped		Rate					Servic	e Log		
1230									ou.	boc.			••			
3.00				·				<u>.</u>	TRU	neks	onto	c -	Salt	1 m	osh,	
						.										
· .									Ker.	) /	<u> 3 3</u> 2	<u> </u>	<u> </u>	15.5	- C3G.	
		_							Cont	1	57					4 4
									<u> </u>					•		
3:15									CAS.	<u> </u>	01)	Both	111	<del></del>		
3:25									Hoo	<u>k 6</u>	hi a	n	,	•	_	
7:20	150		<i>e</i>	1	7		_	3	St		_	HAGI	<u>/</u>			···
$\longrightarrow$		_			<u> </u>				Spi	Kerl	· .					
1					<u>24</u>			5	117/	7	00 sk	11	11.0	C1717	101	5.5 PG.
									Cm7	(n	12 J.	Sout	down	) a	ASh P	Dough Link
<del>-/ </del>			-						Kelo	AS 0	Plag			•	:	<u> </u>
							5	5	14	<u> Les/1</u>	<u> </u>	_	•			
$-\!\!\!\!/-\!\!\!\!\!\!+$	250			9	7_				1/2/	+	<del>\$</del> ;				-	,
/	500							4	1/1/	NE	(4 C)	· · ·				<u> </u>
115	1200			_//	2	-		-	Plan	CA	000					
<del></del>					<u>Z</u>	_			1 1/	ac		<u>v/30</u>				
	<u> </u>			•	<u>5                                     </u>	-+			Pla		11 H as	20 s	<u>A</u>			<u> </u>
<del></del> -						-			-	50	B'4	renft	10 f co			
		_							<del>                                     </del>		11.00	- 1/	die	) -		
10044	NIE III.		^4 -5	0 0		2010	<u>.</u>	-44 460-	07404	004	- ( [] (i)	NK	Jan (		(000)	672-5383